Uzupetnij zdania na podstawie przedstawionych slajdow.

The consumption of the calories is the biggest in (1)......cccccoeeiiiinnnns and the smallest in
() PO
The developed countries consume (3)..........c...... than the developing countries.
The proteins come from (4)........ccccccue..... and (5).ceeeveeeiiiecie products. In the
(C) TP countries the proteins come mainly from animal products and in the
(7)) I countries from plants.
People eat the smallest amount of proteins in (8)..........cccccuue.. and the biggest in
() R
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